| 18 sonoER &:1nk 1,26:1NK B, 6:PAPER B
PEN 1:WWILE -T:RANDOMILE TIME

20 tleSeCHRSC(ISE) :treSoCHRE(T56) cn2(
HESC154) ;sS=CHRS(149) :blcS=CHRS(14T):
breS=CHRSC153) 2 CLS:LOCATE T4, 1:PRINT
Hi-score = ;hiscore

38 b=d:F0R a=1 10 9:605U8 TBR:LOCATE
(og=2, 5:PRINT a:NEXT:zan5:b=11:60508 1
B:donez9:WHILE donsco@:bon(l)=1

A rus=INTCRND=1B0) :ok=1:FO0R 3= T0 §
<1F nus=box(a) THENW ok=B:aszV

58 NEXT:IF ok=8 THEN &8 ELSE LOCATE 1
9 A5:PRINT RIBS{STRS (num) ,2,2);:1F nu
s<i) THEN PRINT" ° ELSE PRINT

60 i=B:WNILE Beali)<>@:i5=":WMILE i3
<1 OR 1§>"F WHILE 19=":18=INKEYS;
WEND :WEND:isVAL{18):WEND:box(i)=nam:L
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2): donesdene-1:HEND

T8 score=9:FOR a=1 T0 B:1F box(al>bon
{a*1) THEN score=sscore=-1:boxla)=@

88 MEXT:IF score>hiscore THEN hiscore
=gcore: |F score=y THEN scores1B:hisce
resscore

98 LOCATE 15,17:PRINT Score =';score:
FOR a=1 70 9:box(a)=@:NEXT:LOCATE 6,1
F:PRINTPress spacebar to play agein’
<§NILE INKETS<>" “:WEND:WEWD

100 LOCATE &va=2,b:PRINT tlcH;n%;n8;1
reSsLOCATE &va-2,be1:PRINT 58;" ";s8
<LOCATE dva=-2,b+2: PRINT s3;° “;s8:L
QCATE Lea-2_ b*3:PRINT blcS;nl;nd;brcld
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